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h(x) = f(x)f(−x) x ∈ R É¿ Ég.
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f(x) 6= 0 : x ∈ R É¿ Ég.



@ 	áÓ :

	
à

	
X@



g(0) = 1 ð g′ = g :
�

�
�
®m�

�
' g

�
éJ


	
K A

�
K

�
éË @X Yg. ñ

�
K é

	
K


@

	
�Q

	
®

	
K ( 3

R úÎ« ÐYª
	
J
�
K B f :

	
à



@ AÖß. ð

k(x) = g(x)
f(x) : �K. R úÎ«

�
é
	
Q̄ªÖÏ @ k

�
éË @YË@ Q�.

�
Jª

	
K

: R úÎ«
�
é
�
JK. A

�
K

�
éË @X k 	

à


@

	
àAJ
�.

�
K ∗

k′(x) = g′(x)f(x)−f ′(x)g(x)
(f(x))2 : ÿ



�ë

�
é
�
®
�
J

�
�ÖÏ @ Aî

�
DË @Xð R úÎ«

�
�A

�
®
�
J

�
�C



Ë

�
éÊK. A

�
¯

�
éË @X k

k′(x) = g(x)f(x)−f(x)g(x)
(f(x))2 = 0 :

	
àA




	
¯ g′ = g ð f ′ = f :

	
à



@ AÖß. ð

R úÎ«
�
é
�
JK. A

�
K

�
éË @X k : ø






@

: g(x) = f(x) : R 	áÓ x É¿ Ég.



@ 	áÓ é

	
K


@ h. A

�
J
	
J
�
��@ ∗

R 	áÓ x É¿ Ég.



@ 	áÓ k(x) = 1 :

	
àA




	
¯

�
é
�
JK. A

�
K k 	

à


@ AÖß. ð k(0) = g(0)

f(0) = 1 : A
	
JK
YË

f(x) = g(x) : ø





@

g(x)
f(x) = 1 :

	
à

	
X@



. R úÎ«
�
é
�
JK. A

�
K i :

�
éË @YË @

	
à



@

�
HAJ.

�
K @



	áºÖß

�
é
�
®K
Q¢Ë@ �

	
®

	
JK. ( 4
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